o 0.5¢ 0.2 = 0.6
© E g
?.45:— --------------------------------------------------------------------- 0.18
Q@ 0 e ST T TS S T T ] _05
3 A 0.16 -
%-355_ ''''''''''''''''''''''''''''''''''''''''''''''''''''' 0.14 — 104
A A 012"
] S e S e e 0.1-
0.2 e e 0.08
OIS | | S AL SRR ARAARRARI AR 0.06
O e | [ 0.04
o5y b s 0.02
9 O__ I |i|ll\|. IIIHln .. : i L1 : L -1
§ L +:u IVI_k.,:I\i- SOITQCD :
- —e— DOM™mKkFiT_SoftQCD-updated
098 = Bé%—m&ﬁ:%—%gF%%Bﬂpgaﬁsg LN
s " DOM mkFit—80HOCD-Updated-DNNsqed13
ool i
0.2 04 0.6 0.8 1 1.2

Efficiency vs. cut on dz(PV)
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